BRRERILISTINER

A ERENER

RiZEEE

\ BOHENESABICER LTI ES,
e ey e ik Canms co sy
KRB F— A

3673

e (KXZ

h B b5 ER30F58138 (B) FimEE 9 1 00
2 & % ALBRENER
3 ESNF— BF Bl BEFE KIZ @F K%
ZF dtlh K=XZ EE Anbees
4 FHERA B BANRT Y FR—IVBE « STNRT v R—IVRAIICET D,
s :6—1—-6—5—6—1—06
52 0 8 MHEEEA0F—ARBEOIAZIx—AZEAL. TO
A4 Y9 )VEBEF—ADRENMTDOCELET D,
REXEREZO 1 1 0XDITNET
Z N& 3000H
b5 AJ—F B3—F
BF g+
s EW Eohal ks «~  K=XZ =¥
. 2 - 19 K& 10 - 0O H=EL
11950 6 12 K== 15~ 2 Arboes
39 13 - 12 57 TO MC 55 16 - 0 5 TO MC
18 - 14 BE 14 - 3 B
BF g+
N < K=XZ =1l =L x Anbees| ZE¥
2 [10%5 50 1x or 26 0 L2
- P - =_
74 ‘55 4] 29 =5 mcl 79 9. 4 16 5o
12 - 6 EW 14 - 8 @]
BF
E s =¥ =
3 [11:40 17 - © EW -
L6 - 27 &3 ( - ]
47 10 - 10 67 TO MC — TO MC
2 - 18 K== -
BE
BF g+
EW x K&y =¥ =B «~  K=XZ Coha]
4 11315 %l j %g K=— % - qg A;E%
65 45 19’ 67 Téﬂﬁc 9 "4 _6' 33 [Fowme
15 - 14 il O - 4 Anboos
BF g+
K=Z « eE &Y [Anbees x b @S] =1l
5(1420) _ 13 16 B 5 58 . |Ke
- = - =_
50[14—5]45TOMC4[2—6]82TOI\/IC
12 - 14 RE O - 16 K==
&= =)
6 (1525 } B
: — : TO MC : — : TO MC
FERBE 0OE-— ’@B ER#TT—)VZJ@O&b\&oLb‘CG’éb\o




